log AY/Y)

log (Y/AY)

LABJNDu7-Dreieckshelligkeit t*
Ync_YW nc_loox

t*LaBINDU7 =[IN[(A 17+A20Y)V(A 20A0n)] (Ynd/100<Y<=Y, )
t(3,6)=26L1* ,(18)=503 *(90)=924

10g[t*/t* =0, m,=0,33
L* =49, t* =592

t* =92 3,60, Ay
t*1575¢3,26 Am-()
13,62 50,92 tA;=5¢

LABJINDu7
Normfarbwertdifferenz
Yac=Yw - nc=100,
L aBINDU7=IINI(A 1+ A2)I(A 2nA0n)] (Yao/ 100<Y<=Y,0)
dY=Agn(A1ntAzY)  Ay=0,017, A,=0,0058
Aonpes=L.5, Apn A=1,0, siehe CIE 230:2019
dYa=0,45, Ay=1,000, =0,84
dY;=0.10, A1=0.014, Agn 0,0048
dY36=0,03 Y,=18, dY=0,15 .
>
>
t*,=593 dY,=0,1Q dY,/'(,=0 J056 0

bereich
1y,=18
Yy =90

LABJINDu7
. Normfarbwertemfindlichkeit
S=@vr) Yo=Yw - ne=100,

L aBINDU7=IINI(A 1A I(A 2nA0n)] (Yo 100<Y<=Y,0)
AYIY=AG A1 +AZYVY

(dY/Y)=0,0050, A,=1,000, ¢=0,84
(dY/Y)g=0,556. A=0,014, A, =0,0048
(dY/Y}6=0,2088 Y, =15, i 1,=0,10

~
~ Anwendungs|

log(dY/YF-2,24 m=—-0,f5a 5 oy g Dereich &

A | -

t*,=593 dY,=0,1Q dY,/Y,=0,00561

1
1Y,=18
Yn=3.6  Yyu=90

LABJINDu7
Normfarbwertkontrast

Yoc=Yw - nc=100,
tLagaNDu7=[IN[(A 10+ A2nV)I/(A 20A0n)] (Yac/100Y<=Yso)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dY}=198,78, A,=1,000, ¢=0,84
(Y/dY)g=176,51, An=0,014, A,=0,0048
(YIdY} 113,13 Y, =18, dY=0,10

*,=593 dY,;=0,1Q Y, /dY, 176

C,=(Y/AY)

Anwendungs-|
bereich

'y,=18

1 Y290

Iog(AY/AY )

Anwendungs-

log [AYY) I (AYIY),]

LABJINDu7 relative Dreieckshelligkeit t*/t*,
t/t* u Ync‘YW nc_loox

t*LaBINDU7 =[IN[(A 17+A20Y)I(A 20An)] (Ynd/ 100<Y<=Y,,0)
t(3,6)=26Lt* ,(18)=593 */(90)=924

Ut =185, Ax=1.000. 6=0,84

{29 =100, Ar=0,014, £,=0,0048

3 gt*(=0,43 ,t,=593,26 Y1

log[t*/t* ]=0, m,=0,33

1 Anwendungs-|
1 bereich

1v,=18
IM\=86  Yy=90

LABJNDuU7 relative

Normfarbwertdifferenz
Dy Yoc=Yw - nc=100,

t* LaBINDu7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
AYIY,=AgfA 1 +AgYIdY,

dYeg/dY,=4,43, Ay=1,000, ¢=0,8
Y,¢/dY,=1,00, A=0,014, A2= f o
dYs §d¥,=0,31 Y, 18, dY=0.1

>
t*,=593 dY,=0. 10 dy, /! 1u—0 ./056 >

LABJINDU7 relative
_ Normfarbwertempfindlichkeit
SSu=OYMIBYN)y . =y, - =100,
t* LaBINDu7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
@YIYYAYIY,=(Ag A V)Y(AY/Y)]
(dY/Ypg/(dY/Y)~C, 92 A\=1,000, ¢=0,84
(dY/Y)g/(dY/Y,=1,00, A =0,014, A,=0,0!
(dY/Y} d(dY/Y)=1,2% Y.=18 dY=0,10

048

log[(dY/YY(dY/Y),]=0, m=-0, 13 1
= Anwendungs-|
t*,=593 dY,=0,10 dY,/Y,=0,0056 ; boramung

1y,=18

log [(Y/AY) I (YAY),]

YN=3.6 | Yw=90

LABJINDuUT relativer
Normfarbwertkontrast
CrlCry=(YIAV)(YIAY)y vty ™ 2300,
t*Laganpu7=IN[A 10+A2nV)II(A 20A0n)] (Yno/100<Y<=Y, )
(YIAYY(YIAY)=(Y/YIAY L) A oAt A (YIAY),
(Y/dY}o/(Y/dY)=1,12, Ay=1,000, ¢=0,84
(Y/dY)g/(Y/dY)=1,00, A =0,014, A,=0,0048
(Y/dY} ¢/(Y/dY)=0,64 Y,=18 dY=0,10




